exprf = abs(A-B-C +14+xCt 1)) —xBtD + A4;
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exprg = piecewise(x < B — 1, limit(exprf,x=B—1),B—1 <xandx < C+ 5, exprf, C+5 <x,
limit(exprf,x=C +5));
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expr := (A+ B+ 1)'exprf<A TEHO) 4 (C+2)-subs(x=y, exprg)( A+B+C+l) ) — cos(subs(x
=exprg +y, exprf)) :

exprs = subs({A=0,B=0,C=0}, expr);
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s = unapply(exprs, x, y);

(x,y)—1+2 piecewise(y < -1,1,-1 <yand y <5, |y + 1] —»,5 <y, 1) —cos(-|1 “)
+ piecewise(x < -1,1, -1 <xand x <5, |x+ 1] —x,5 <x, 1) +y| + piecewise(x <
-L L -1 <xand x <5,[x+ 1| —x,5<x, 1) +y)

axl = A—1:bxl = =A-B+B-C+C-4A+1:

ayl = B—1:byl == A-B-C+3:

ax = subs(A =0, axl) : bx == subs({A=0,B=0,C=0},bxI) :

ay == subs(B=0,ayl) : b y = subs({A=0,B=0,C=0}, byl) :

plot3d(s(x,y),x=ax..bx,y=ay..b_y, orientation = [45, 70], shading =z, axes = BOXED, labels = [x, y,
"s(x, ¥)"], color= x-y);






